

$$\tan(\pi - \alpha) = -\tan \alpha$$

$$r \tan(\pi + \alpha) = r \tan \alpha$$

$$\tan(r\pi - \alpha) = -\tan \alpha$$

$$\tan(r\pi + \alpha) = \tan \alpha$$

$$\frac{-\tan \alpha + r \tan \alpha}{-\tan \alpha - \tan \alpha} = \frac{r \tan \alpha}{-r \tan \alpha} = -1$$

$$\frac{\pi}{18} = 10^\circ \quad \tan 10^\circ = \tan(90^\circ - 10^\circ) = \cot 10^\circ$$

$$\tan 10^\circ = a \quad \tan 10^\circ = \tan(90^\circ + 10^\circ) = \cot 10^\circ$$

$$\tan 10^\circ = \tan(\pi - 10^\circ) = -\tan 10^\circ$$

$$\tan r\pi = \tan(10^\circ + r\pi) = \tan 10^\circ = \cot 10^\circ$$

$$\left\{ \begin{aligned} A &= \frac{r \cot 10^\circ - \cot 10^\circ}{-r \tan 10^\circ - \cot 10^\circ} \\ \frac{1}{a} &= -1 \\ -r a + \frac{1}{a} &= \frac{1}{r a + 1} \end{aligned} \right.$$

$$\frac{(\sin \alpha + C \cos \alpha)^r + (\sin \alpha - C \cos \alpha)^r}{\sin^r \alpha - C \cos^r \alpha} = \frac{\sin^r \alpha - C \cos^r \alpha}{\sin^r \alpha - C \cos^r \alpha}$$

$$\frac{r(\sin^r \alpha + C \cos^r \alpha) + r \sin \alpha \cos \alpha - r \sin \alpha \cos \alpha}{\sin^r \alpha - C \cos^r \alpha} = r \frac{\sin^r \alpha - C \cos^r \alpha}{\sin^r \alpha - C \cos^r \alpha}$$

$$\sin^r \alpha = 1 - C \cos^r \alpha$$

$$\frac{1 - C \cos^r \alpha - r C \cos^r \alpha + 1}{1 - C \cos^r \alpha + r C \cos^r \alpha - 1} = \frac{r - r C \cos^r \alpha}{C \cos^r \alpha} = r$$

$$\frac{r - r C \cos^r \alpha}{C \cos^r \alpha} = r \rightarrow \sin^r \alpha = 1 - \frac{r}{r} = \frac{1}{r}$$

$$\cos\left(\frac{\pi}{r}\right) \rightarrow \sqrt{\frac{1 + \frac{1}{r}}{2}} = \sqrt{\frac{r+1}{2r}}$$

$$\cos\left(\frac{\pi}{r}\right) = \sqrt{\frac{1 + \cos \frac{2\pi}{r}}{2}} = \sqrt{\frac{r+1}{2r}}$$

$$\leftarrow \cos(r\pi, d) \text{ (الف)}$$

$$\Rightarrow \sin(4\pi, d) = \cos(r\pi, d) = \sqrt{\frac{r+1}{2r}} \sin(4\pi, d) \text{ (ب)}$$